Numbers




°*]l —o0ne
*2 —two
*3 —three
*4 —four
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*11 —eleven
*12 —twelve
*13 —thirteen
*14 — fourteen
.s 15 —fifteen
3 6 — sixteen

17 — ceventeen
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Model: 5+11= Five and (ﬂ)z(leven is sixteen.
¢+ 13+ 4 = 4+8 =
*3+15= 7 +9=
* 3+ /= 11 +5=

'9+6- 18 +2 =




> 1"‘“—‘% " T " r*\u:. /

g m‘h 4 ; __,:-,-'i, s
\é:f - \\::\ \ \\g;» X \\ﬁ» s \::
%emme npmmepbl 3aTeM pacmmcbpyme

CJ10BO:.
1) Three and five is ...

e 2) Five and seven is ...
e 3) Eight and two is ...

e 4) Three and six is ...
 5) Ten and elevenis ...
* 6) Fourteen and four ..

CnoBo: 123456
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°1)8+11=
°2)4+6=
°3)12+ 3=




